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Questions 1 & 2

M BARVEMBERS
n Annie has two jugs of juice.

- There are 4 litres of juice in jug A.

« Annie pours 3 litres of juice from
Jjug A into jug B.

+ There is now the same amount of
Juice in each jug.

Jon buys this bag of apples.

He buys two more bags like this.

How many litres of juice were in the
How many apples does he have Jjug at the start?

in total?
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Questions 3 & 4

BARVEMBERS
n A shop sells roses.

- Zof the roses are red.

- The rest are white roses.
- There are 30 red roses.

There are 3 groups of children.

+ There are the same number of children in I
and 2™ group.

« There are 75 more children in the 37 group
than the I group.

+ Some children are moved from the 3r¢
group to the other groups.

+ There are now the same number in each
group.

« There are |93 children in the I** group now.

How many children were in the I** group at the

start?
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How many more white roses are there
than red roses?
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Answer for Question 1 Answer for Question 2 Challenge Question 5
14 Itrs ? I RA g The Daily
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Jug A . o Shannon and Nick each have some
apples juice in buns.
5 4 4 3 Itrs Jug B If Shannon gives Nick I6 of her buns,
he will have the same amount of
Jess 7 =5+4+4=13 Jug B buns as her.
If Nick gives Shannon I6 of his buns,
= — the ratio of the number of buns
? 7 1 4-2)‘ 3 - 8 Itrs Shannon has to the number of buns
Nick hasis 5: 1
How many buns does Shannon have?
Jon has 13/apples in total. There were 8 ltrs of juice in Jug B at the start
010 d d Ad$ d
CJ
APP 3 atl10 ed At10 D DOMd 3 ajeevg ptes/app
Answer for Question 3 Answer for Question 4 Answer to Challenge Question 5
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: 45 poe  lh S 168 I Shannon = Nigk 64
Red White " children [ 1 buns
——ﬁso ? roses ‘1,93 15t group If Shannon gives Nick 16 buns Shannon
| . i - —
White 2 If Nick gives Shannon 16 buns
- - R CT— 1T 17 1T 1
2 parts = 30 |1 part =15
White roses are 3 parts more than red roses=3x15=45 E 1 part =16 buns

193-25=168 75/3=25

Shannon has 4 parts|=4 x16=64 by

ins

There

are 45 more white roses there than red roses.

There are 168 children in th

e 1° group at the start.

Shannon has 64 buns.

Part of chooMantra Maths Initiative

‘\||| L
2 9 10 11 12 13 14 15 16

chooMantra - Its Magical! ileaibeyy sy - euepooyd

9L G vL €L 2ZL L O 1 9 S € [4 3 0
S OO TN OO OO0 ST TON AO o TR P N OO0 RO OO S|

Download this sheet.
A3 and A4 size available for printing
Compiled ,Edited & Designed by
Rajeev G.Mavinkurve

Essence of chooMantra

Alexa Animal Kingdom Game

Animal Kingdom Game
by RajeevGM

Free to Enable

This is a single or
multiplayer Animal
Kingdom Quiz game by
@RajeevGM.

Play Animal Kingdom
Game and learn about
animals, its sounds,
collectives, young ones,
etc.

Instructions to
Enable and use Alexa Skill

Enable Skill

In Alexa app menu, select Skills.
Search “Animal Kingdom Game
RajeevGM™. Click on the skill
displayed and click on “Enable
Skill”.

p://bit.do/AlexaA a gdo

Use Skill

After enabling the skill,
switch on Alexa enabled
device. Once ready say
"Alexa, Launch Animal
Kingdom Game'
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